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)G A SR 18, 620 5.8 26,463 26.2 45, 083 16.9 45, 086 16.9
H = H 48, 684 4.7 46,279 24.0 94, 963 13.3 137, 650 14. 3
o= w8 2,576 3.6 3, 120 10.4 5, 696 7.2 136, 724 14. 9
igp = 9, 756 4.1 9, 287 7.6 19, 043 5.8 143, 246 13.8
F FE Ok B 8, 756 6.8 7,107 8.5 15, 863 7.6 137, 482 14.0
Ok B ® 13,914 1.7 9, 089 3.2 23,003 2.3 147, 559 13.0
ST = S 11, 668 4.8 9, 541 6.2 21, 209 5.4 138, 189 13.5
B & K E 18, 994 5.5 12,430 8.9 31, 424 6.8 125, 634 14. 0
#= Jois 24,934 5.6 22,003 8.4 46, 937 6.9 244, 051 13.5
ook m w 60, 416 7.0 36, 952 9.8 97, 368 8.0 125, 330 7.8
=G, A NI =) 10, 344 4.3 7,285 6.4 17, 629 5.2 115, 233 8.1
T = ] 3, 548 7.1 2,416 8.1 5, 964 7.5 112, 671 3. 1
¥ = 8, 648 6.6 3, 090 4.4 11, 738 6.0 115, 958 8.1
[ 1 | = N | 3, 966 0.3 2,760 5.9 6, 726 2.5 116, 847 8.0
= By 3, 166 5.3 1, 643 10. 4 4, 809 7.0 118, 216 7.9
U 5 AN % 19, 622 3.5 14, 298 9.2 33, 920 5.8 124, 490 7.9
W fEl 3,018 1.3 2,558 6.5 5,576 3.6 123, 195 8.0
ook sl 1, 890 3.8 1, 698 5.7 3, 588 4.7 122, 954 8.1
h il 3,416 2.8 3,311 10. 5 6, 727 6.5 123,116 3.0
®oopk B 5, 308 3.0 5, 267 8.5 10, 575 5.7 126, 532 8.0
i feh 3, 064 9.7 2,748 7.3 5, 812 8.6 128, 484 8.0
- A AR v 49, 748 3.9 38, 347 9.8 88, 095 6.4 177, 808 75
X # BT F 2,454 5.8 2, 849 7.4 5, 303 6.7 175, 775 7.4
o B B 7,428 1.6 10, 980 1.8 18, 408 1.7 176, 471 71
2R bESS 5, 268 1.7 4, 850 6.7 10, 118 4.0 174, 264 71
Bk H# OB W 32, 440 2.5 24, 811 6.7 57, 251 4.3 181, 693 6. 4
o KA R 23,104 5.1 11, 285 5.4 34, 389 5.2 158, 521 6.6
5z b3l 15, 482 3.6 7, 662 6.2 23, 144 4.4 142, 388 6.8
N T & & 24,524 3.8 18, 368 5.3 42,892 4.4 119, 245 7.0
Bk K OH 7, 100 6.5 4,676 4.9 11,776 5.9 112,173 71
i a5} = 27,962 1.8 19, 550 7.8 47,512 4.2 95, 457 3.6
& pESS 7, 606 2.2 6, 050 6.9 13, 656 4.2 87, 775 9.9
A ) N 11, 182 4.6 7, 887 6.9 19, 069 5.6 75, 606 10. 92
=G N = < 9, 440 1.9 7,109 8.7 16, 549 4.7 64, 133 1.7
IO A = 9, 970 3.5 6, 311 8.7 16, 281 5.5 53. 472 13.7
e U A e )
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il S 3 A =] (N) wmoam AN B (N
B 4 E ) % E WAk % i % %
PN 1= A 182 13.8 161 6.6 343 10. 3
N ) 53, 257 13.7
ORk W ox It 3,166 -0.1 2,723 11.7 5, 879 5.0
50, 177 14.9
= B B HE 1,832 4.4 867| 20.1 2, 699 9.0
49,904| 15.2
N H o k- 7,596 10.6 6,159 14.7 13,755| 12.4
o 47, 744 16. 7
WOk gk H 18, 126 5.7 16, 413 17.3 34, 539 10.9
25, 896 35.2
7o g E 2 v oL 3, 402 20.3 9, 335 35.2 12, 737 30.9
13,079| 39.8
BROm % Pk 4,296| 50.9 8,782 34.9 13,078| 39.8
(W g B )
1,930 11.4
H I i 922 11.1 1,006 11.8 1,928| 11.4
( # k= &)
i i 126, 490 7.7 82,931 16.1 209, 421 10.9
209, 425 10.9
O AL T 9,970 7.3 8,848| 10.9 18, 818 8.9
202,286 10.7
\ s 7,750 8.4 5,514 11.0 13, 264 9.5
195, 381 10. 6
| D4 S 10, 094 7.0 7,304 8.0 17, 398 7.4
185,910 10. 6
) A VA 1 22,432 5.2 11, 243 4.7 33,675 5.0
172,011 10.9
( 4 B )
27,230 T
S X 3, 784 3. 4, 669 11.2 8, 453
22,907 .0
O 4 HT 14,206 2.4 8, 699 6.7 22,905 4.0
( F+ E ®)
57, 453 4.8
= OE K 9B 8, 394 1.7 7, 545 T 15,939 4.9
50, 321 5.4
O B OE 5,224 2.8 2,570 .3 7,794 3.3
46, 462 5.8
iy W, i 2,090 3.3 2,022 8.9 4,112 6.0
45, 027 6.0
o Ok W O®E 3, 890 2.9 3, 397 10. 8 7, 287 6.4
44,725 6.0
Fr e n = 4, 466 0.7 3,216 8.8 7, 682 3.9
B 43, 749 6.1
i 2% = 1,630 5.2 1,427 11.9 3, 057 8.2
N 43, 440 6.3
#r I 3 1, 148 4.9 1, 008 6.4 2,156 5.6
42, 405 6.4
Wk T o1E 16, 400 6.3 13, 876 10. 6 30, 276 8.2
33, 850 7.1
T # ok 11,778 3.2 7,589] 10.2 19, 367 5.8




WO # W 3) () ANBOHM., (%1 ML piEsmns
& PS 12 A =N o A B (N
R4 iE 1] % E 4 % 7 % %
C F+ K’ &)
22,577 7.8
+ 3 S 2,634 6.1 2,508 11.3 5, 142 8.6
18, 861 7.2
N o & 1, 866 4.1 1, 307 11.0 3,173 6.9
16, 124 7.2
= Aif 3, 756 6.8 1, 747 7.1 5,503 6.9
11,074 7.1
Boow A B 3,518 4.9 1, 864 11.2 5, 382 7.0
5, 944 7.5
Hoox 5 B 3, 802 6.7 2,141 8.8 5,943 7.5
(kM 22 8 5% )
B 34, 590 67.8
W /N = 1,726 9.9 3, 192 31.1 4,918 22.8
37,916 62.7
ST S N 2, 568 10. 3 2, 440 25.5 5, 008 17.2
39, 915 59.4
TH=—o—Hyhf 2,976 7.4 1, 963 7.9 4,939 7.6
33, 644 78.5
Fl g B KR E K 974 19.7 718 25.1 1, 692 21.9
) 33, b86 80.5
| = I S | 1,010 25.9 814 17.5 1, 824 22.0
32, 161 84. 8
e P o2 v oL 550 17.0 15, 819 90. 6 16, 369 86. 7
15, 503 84.3
K om 4= Bk 1, 092 67.5 14,410| 85.7 15, 502 84.3
& 2 833, 746 5.4 666, 307 13.9| 1,500,053 9.0




